ID: 1

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) k* +5k=—-1 2) 2p*+16=8-p’
3) 4a°-3=6 4) 4x* —15=-2
5) -n’=-4 6) 7x* —5x—-27=x>-38
7) -90 —n=-2n%+1 8) 9r’—r=4
9) 5b* —24=-3+4b>-4b 10) 4m? — 100 + 9m = 9m
11) 2v? —6v=—4 12) -5n* + 14 =4n’
13) —3x=-9x—5x* + 11 14) 2x* + 4 = —6X
15) —10a* +2a + 19 = —6a* 16) 6k* + 4k +2=4-3k?
17) 33 —x=3x+9+4x* 18) 1+6n=3n*-1
19) 4m? =—8m+ 13 20) -35=9-3p’—p
21) —10n* + 28 =—6n* +9n 22) 3x* — 1 =—x?
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23) —=5m? + 11 = 5m + 5m? 24) r? —10r — 12 = —4r
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Answers to Assignment (ID: 1)

){ 5+\/_ 5_ \/_} 2) (-2, 242} 3 {1%’_1%}

{\/_ \/_} 5) {-2.2} & {5+\/481,5—\/481}
7 {7’2 l} i 8) No solution. 9) {3,_71}2 2 10) {5, -5)
21 12) {—@,@} 13) {1 _2%} 14) {-1,-2}
5) {1 77 1+\/_} 6 { 24422 2- \/_} 17) {-3,2}
18) {3 \/_ 3+\/_} 19 { 2+2\/_ 2 2\/_} 2) {3%_4}
21) { 4,1 } 22) {%_%} 2) {—5 —20465, -5 +20465}
24) {3+421,3-~/21}
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ID: 2

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) —5v? — 8v — 8 =2v — 3Vv? 2) —10b*—=b+1=7+8b
3) x> -13=6 4) —5x* + 4 + 6x = 6X
5) 11n* —10n=—-1 +9n° 6) 9a” + 10a—46=—6 + 8a” + 7a
7) 3p’-8p-5=-p’ 8) 0=—5+x’
9) 3k*+5=38 10) 8x* —5X+4=—Xx+3
11) 5n* +3n-9=5n 12) =59 + X =-9 + x — 2x*
13) —4m? +25=5m* + 10 14) —2n*=2n%-16
15) —4r* +23+7r=10+7r 16) 13x* — 7x — 24 = 8x*
17) —9v* - 5v+6=10 18) 18b* — 15 = 10b?
19) —11n* + 48 + 10n = 10n — 8n? 20) 8a’—1la—23=-4a—3+a’
21) —3x* — 6x + 18 = —5x 22) x*+10x=10x+7
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23) —2k* +9k—4=k 24) 7n* —8n—-26=-10
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Answers to Assignment (ID: 2)

1) {-4,-1} 2) No solution.
. 54423 5-4/23 6) {5, -8}
2 2
8) {-A/5,/5} 9) {1,-1}
" {m/% 1_\%} 12) {5,-5}
) 5 ' 5
1 2.2 o [0 3
R I
18) @,_%} 19) {-4,4}

6 6
4482 4—8\/5}

7 7

24 gegsvs patih-veerlsheet.ory

2 %1 217 -1+ 217} 22) (N7, 7}
|

5 5

3) (W19, A/19} 4){ ns 2\/5}

1 1
L {25’ ‘5}

10) No solution.

i 5 )

3 3

3 17) No solution.
16) {3,-1=

5
20) {7+ 609 7 — 609}

14

14
23) 12-1/2,2 442}
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ID: 3

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) —5p*+8p-18=p—-6p° 2) —2m* —12m+ 13 =—7m + 10
3) 5n?+1In—15=2n+4n’ 4) 2x* —2x=-1—10x
5) 5m? =45 6) -1 —n=-7n*+1
7) =2r* —7r =77 =3r - 5r? 8) 10x* =3x*+20
9) 14b* —2b—15=6b*-3b 10) 4v? +3v—2=2
11) 3x* +10=7x* + 3x 12) 7x* — 8 = 5x?
13) —2k* + 17 =k? 14) 9a=2a’ - 11
15) 24 + 6x = x* — 4x 16) 53 —8n=4n* -7
17) 5r* — 14— 8r=-2r> —8r 18) —2p? +2p—-1=-8p
19) m=3 —4m + 10m? 20) —8n? —9n +8=-7n

22) 5V —3v—54=3v?
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23) 3x? —2x — 16 = 6x 24) —3b* — 3b — 44 = —5b*
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Answers to Assignment (I1D: 3)

1) {2,-9} 2 {_3,1} . { 943141 }
4~/1a —4-~1a 25) (3,-3) 1+\/_ 1-~/57
K { 272 } { 14 ' 14 }
7 {7 32} {25,_2§} 0 {—1 +16481,—1 —16481}
10 { 3+\/_ 3- \/_} 1) {_2,15} 12) {2,-2}
13 { \/_ } 14 {_1'51} 15) {2, 12} 16) {-5, 3}
17) {\/53 2} 18) {5_\/22_3, 5+\/5} 19) No solution.
65 _1+\/_} 221) No solzution. 22) {6 _41}
)

20){ .
A5

1
o ool e (sl
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ID: 4

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) 5k* + 12k — 12 =5k 2) X2 —2x+5=-Tx+1
3) 10a’ —7a—10=-8 + 9a’ 4) —15+10n=-10+ 10n*
5) 7x* —5x—-14=5 6) 5m*+9m=11
7) 9n* +16n+2=10n+4—n? 8) 2p*+5p+22=-2p
9) 14b* + 1 =6+ 9b? 10) 4x* +4x +2=-5x
11) -n*+73-2n=-2n+9 12) =50 =4n + 5 —3n?
13) 10 —4r=10r* + 6r -5 14) —3b* +8b—15=-10
15) 13x* + 10x — 17 = 8x* 16) 3x* —24 + 8x =3 + 8x
17) 5a®> -5a— 18 =4a 18) —9v* +7v+20=1+ 10v
19) —9x* —5x+24 =4 20) 3p? +3p—-61=—1
21) —2x? — 15X + 48 = —5x 22) 2k* +3k—-72=5
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23) -3n*+9=0 24) 5m* -3 =4m
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Answers to Assignment (ID: 4)

) {1’_%} 2) {-1,-4} . {7+\/_ 7- \/_}
4) No solution. {5+ 557 5-— } 6) { -9 +4/301 -9 -4/301 }
14 ' 14 10 10
) {_3“/2_’ _3_\/5} 8 {_2’51} 9) {1,-1}
10 10 2
.
13){ 1-~/7 —1+\/_} 14) {ng} 5) {—5+ 110,—5—\/110}
2 2 3 5 5
16) {3,-3) ) {3’_1%} ) {—1 - 7 - +6\/%}
10 {—5—\/745 54 745} 20) {4,-5} 21) {-8,3}
18 18
2) {5%’_7} 23) {A3,4/3} 2 {2+;/E12—;/B}
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Assignment
Solve each equation with the quadratic formula.

1) 10x* =27 =7x*

3) —r*—11r —28 =-10r — 3r?

5) —5b% + 16 =9 — 9b?

7) —9a’ +2a+51=-5a%+7a

9) n —35=-8-6n

11) —92 =8 —k?

13) x* — 14X+ 18 = —4x + 9 — x*

15) 5x* +2x — 8 = —8x

17) n*+1=5

19) —2r* —4=2r+5

21) —12n* +11=-2n°

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date

2) 4v? + 1 —4v=—4v + 8v*

4) 2n* —10=—4n

6) 3n*—8n—4=-7n

8) —14x% +5x — 4 =-2x — 9x*

10) —12m* —m+ 12=-8m* - 6

12) —3x* +3=-2x*+38

14) 4p* —8p=-8p+7

16) —4b* =49

18) 2 =2x?

20) —10b% + 5b=-7

22) 10v? — 14 =8v? — 6 —3v

math-worksheet.org
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23) 5x* +2x-83=5 24) —x* - Tx=—60
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Answers to Assignment (ID: 5)

1) {3,-3} ) {_%%} . {4’ 1} 4) {-1++/6, -1 -6}
5) No solution. 1 1 8) No solution.
o (111 Ll
9) {3,-9} 10) {_2%, 2} 11) {10, -10} 12) No solution.
13 {5+«/_ 5— \/_} ” {ﬁ_ﬁ} 5) {—5+ 65,—5—\/5}
2 2 2 5 5 _
16) { 3_ 31 } 17) {2, -2} 18) {-1, 1} 19) No solution.
2) {5 05,5 5} 21 {_\/110’\/110} 2) {—3+ 731—3—\/5}
10 ' 10 4 4
2) {4 42 } 24) {-12, 5}
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ID: 6

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) —2k* + 5 + 4k = 4k 2) 3x*+11x+21=3x-7
3) 2p*+2=0 4) -5n* —2n+3=5n-7n°
5) —6a’-2a+5=-8a 6) —4m* —2m=—-12
7) 12+ 7r=7r? 8) —15x* — 5x + 18 = —10x*
9) 35=-3b+2b* 10) 2v* +7v—105=—-6
11) —2n%* +5n—7=-5n 12) 9x* —7=-8 + 8x
13) —10a’ —a+4=—-6a+7 14) —9k* — 4k =80 — 5k
15) x* +3x — 48 = —5x 16) 5n% +8 —3n=-3n+9n°
17) —4n? —6n=-16 18) -9 +3x=-6x>+38
19) 13x% + 5%+ 17 =9 + 4x* - 3x 20) —6m? + 18m — 4 = 9m + 3m?*
21) —2p* +4p=-16+5p? 22) —3n? —3n—-22=—4n +6n
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23) —5b =15 —9b? 24) —14 —20r =-9r* — 10r — 4
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Answers to Assignment (I1D: 6)

) {_£ £} 2 [2.42) 3 {-1.1) { 1
{3 39 3+«/_} 6) {_2,11} . {7 385 }

6 6 2 14 14

8) {—5— 385 5+ 385} %) {_31’5} 10) {51’_9}
10 10 2 2

" {5—«/? 5+\/ﬁ} 2 {4+\/7 4_\/7} 13) No solution,
2 2 9 " 9

14) {-5, 4} 15) {4,-12} 16) {-/2,/2}

7 {—3—\/7_ 3 +\/§} ) {—3 417 —3—\/417} 19) No solution.
4 4 R

20) No solution. 21 {2 2\/_ 2+2\/_ 22) {11, -2}

- \/11
2) {5+ 565’5 18565} 20) {5+ 5 : }
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ID: 7

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) x* +4x-2=5x 2) 4n*+6n+4=-3
3) -18 —3a=-7a’ 4) 5x* —12 - 9x = —9x
5) 3a’ -9 +4a=4a 6) 12+3v=2v>-3
7) —3k* — 2k — 40 = —6k? 8) —4x* +8x + 17 = -2x
9) -8 +5n=10-9n’ 10) 9% + 13 — 6x = —x* — 6X
11) —5p*=-3+2p 12) —3m? — 8m+ 15 =—4m
13) —3r? +2r=-7r* + 2r + 81 14) —2x* — x + 10 = 4x?
15) —5n? +3n=—18 + 3n? 16) —4b? + 19 =10 — 2b?
17) —2n* —6n —91 =2n — 5n* 18) 2x* +9x — 17 = =7 + 3x
19) 10 — x =4x* — 10x 20) —4a’ +4 + 6a = 6a
21) —5x* + 6x=—11 22) V' =—10v + 14
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23) —6k* +9k+7=3 24) -2n* +9n +28 =7
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Answers to Assignment (ID: 7)

1) {2,-1} 2) No solution. . 34357 3_3\/5}
14 ' 14
N {2\/@ _2\/3} 5) (N3, A3} . {3—V129 3+\/129}
5 5 4 4
2 {4’_31} . {5—\/@15“/%} 0 {—5+ 673 -5 - 673}
3 4 4 18 18
10) {_E\/_} 11) {—1%} 12) {—3, 1%} 13) { %—4%}
\/ _1 41241 3-3765 3+3V65 W2 3\/_
) B V) 1) 16 16 Ty
17 {7 } ) {—3+\/2_'—3—\/5} 19 {9 \/ 9+\/24 }
2 2 8 8
20) {-1, 1} 21) {_1,21} 22) {_5+ 123 -5- 123}
5 7 7
2) {9—«/177’9+ 177} 24 { 21 7}
12 12 2'
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Assignment
Solve each equation with the quadratic formula.

1) -1 =5x—-9x*

3) 4p*=11+3p?

5) —3n? + 19 =-3n

7) —4r? —2r=-2r+12 - 7r*

9) 3v? —4v—-43=5+3v

11) —7a* + 5a+ 1 =—10a’

13) x* —7x—20 =X

15) 9k* — 8 =9k

17) —-m* -3 =-7

19) 15=-8n—n?

21) —6x* — 10X + 4 = —9x

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date

2) —17b% + 3b — 4 = —8b?

4) -2 — 6m =—-5m?

6) 9x* + 10x=-9

8) 23 =—6n+2n°+ 10

10) 4a*+7a=3

12) 2p*=42-5p

14) 14x* + X+ 9 = —6X + 10x*

16) x* —7x=-2x+24

18) —3r* —3r+21=2-2r°

20) n* —=2n—-2=-3n+ 10

22) —6V? + 7 =—4v

math-worksheet.org
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23) 11+ 6x=3x*+10 24) —b* +24 =-10b
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Answers to Assignment (I1D: 8)

) {swa 5-~l61 2) No solution. 3) (W11, 11}

18 18
N {3+«/B 3—\/5} {3 V237 3+/237 } 6) No solution.

5 ' 5 6
7) {2,-2} {3 \3s 3+\/_} ) {51 _3}

2 2 3

10 {_7?/9_’ —7—8\/5} " {—5+6 13’—5—6\/_} 12 { 1 6}
13) {10, -2} 14) No solution. 15) { 3+\/_ 3_ \/_
16) {8, -3} 17) {-2,2} 1) { 3- \/_ _3+\/_5 }
19) {-3,-5} 20) {3, -4} 2 7,_1+«/_ }
2) 2—?@%;/%} 2) {3—5\/§’3+§\/§} 24) 2,12

rr-if'f-l—'“ osgsgs ath-vsrisheel.crg th-worksheet
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ID: 9

Name
Assignment Date Period____
Solve each equation with the quadratic formula.
1) —49 = -a’ 2) 14p? —13+2p=2p+10p*-9
3) 0=5-n? 4) 5k* — 45— 10k =—10k
5) on’+1=3 6) 12x* 43X —22 =2x + 7x*
7) 13p*-9+7p=9p*+7p 8) —8b*+24—-7b=-7b+8
9) —n? — 15 =10n — 4n? 10) —5m? +21=7—-2m? + 8m
11) 5x* + 17x+7=10x+5 12) —11x* — 4x+32=-9x> + 3x - 7
13) —16a’ — 6a — 3 = —8a’ 14) —n* +36 — 6n =—6n
15) 10r=3r* -7 16) 11x* +3=5x>+10
17) 3v? +8v—4=-2v? 18) 4x*> —5x-21=3x*-4
19) 5n* -=3n+63=3+7n*—-10n 20) -3 +6p=-5p*+6p
21) —2k* —4=-6 -2k — 5k* 22) 6+ 10x = —7x*

b2 wsgsgs ath-vsorlsheel ory
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23) 2n°* —8n—14=n 24) —4m? — 4m = 24
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Answers to Assignment (I1D: 9)

1) {7,-7} 2) {1,-1} 3) {5, s} 4) {3,-3}
{@ _ﬁ; 0 {221 n {1l ) 9 (V2.\2)
{5+g/_ 5- ;/_} 10 {—4—3 58,—4+3\/§} 1) {_%_1}

12) { oL 3} 13) No solution. 14) {-6, 6}

15) {5 \/_ 5“/_} 16) {£ _£} 17) {% -2}

) {5 +«/_ 5- ;/_} 19) {—4, 7%} 20) {g_@}

21) No solutlon 22) No solution. 2) {9+ 4193 9_\4/§}

24) {-3,2}

o
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Assignment
Solve each equation with the quadratic formula.

1) 2n* +84=4n+2n

3) 4r* — 54 =—6r

5) 90 —4n =5+ 3n+2n?

7) —10 - Sk =-3k>

9) 2x* —9x=-7

11) —14a* - 8a+ 6=—-6a*-3
13) 10p? +10p-10=6p+ 1 + 6p*
15) 3x*+x+11=-6

17) 9n* —20="7n

19) r* +10="7r

21) —2x* + 9x — 80 = —7x*

2 gegsus. path-worsheet.ory

Name

ID: 10

Date Period

2) 2x* +4x+38=x-6

4) 6b* +2b-8=Db

6) 8x* —5x—5=-8+ 10x*

8) -6V — 10V + 6 =—10v* — 6V

10) 2p* - 19 =-6p?

12) 7m* +m—43 =4m* +9

14) —5n* —8n—7=-10n* - 6n

16) —4b? + 5b + 65 =-10

18) 12x* — 12x — 6 = 4x* — 5x

20) —-a’ +6a=7

22) v —7v— 12 =4v?

math-worksheet.org



23) 3=5n"+1 24) 6x> +7x =8
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Answers to Assignment (ID: 10)

D 17,6} 2) {—4,5%} 3) {3,—41}
" { ~1+N193 -1 12193} 5) {_8%15} 6) {_31%}
5+4/145 5 8) No solution. {l }
2
10 {\/_ \/_} " {—2—4 22'—2+4\/5} 12 { }
13){ 1+2V3 —1—2\/_} 14) {1% _1} 5) {1 205 1+/205 }
16) { 33 } 7+N769 7 - } 18) {7+ 241 ,7 }
4 18
19) {5, 2} 20){ \/_3+\/_} 21){ 1 } 22){ 2 1}
5’ 5’
2) {_ﬁ _10} 20) {—7+ 24 - 241}
55 12 12
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